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AT & v H?:Ijﬁ%r !/ Instructions to the candidates

1. 9%t 99 gfiam qRds! & 7 7 &l §AE 9 W @l et e Aegies fREm smeew

The question paper is in the form of test booklet. All candidates will be assessed on
identical questions.

2. 3 forge g Tl 3t & e S0 Ui & @R e § T HuAAR fie 3Ty S
Sreeft| T FAT R & UAd AT FeA o9 hr NUANR SN B T ST gur st
1 HiT & TSI 3re=aeft worear el Tgaht &) HaHTer oY T8/ A separate OMR answer sheet with

carbon impression copy is provided to all candidates for answering. After completion of the
test, the carbon impression of the OMR sheet will be detached and handed over to candidate by
the invigilator which should be carefully retained by the candidate for all future reference.
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(. uRT ¥ % 3 UHA o g 9 § df g 8 gl

At the centre of a current carrying single turn circular loop, the magnetic field is

@ B= L ®  B= H
2muR 2R
5_ M 5__ M
B=—— d B=
i 27R & 27R’

2: ssleET & few weed (@) W G = H - TS ¥ w7 &§ gReRa &1 @l
H = quifsA, T = AT, - TEr) & FHEAT, THSHT, ScHAUIT Wi G &

The Gibbs function (G} in thermodynamics is defined as G = H - TS (where,
H = enthalpy, T = temperature, § = entropy). In an isothermal, isobaric, reversible process, G

(a) farTais WAl o ER?_TJ Y &l / Remains constant but not zero
by & 3d¥ / Varies linearly

(©) 3{T@F: 3R / Varies non-linearly

(@) AL/ Iszero

3. UOEH UF p-nSioRM S St

LED is a p-n junction diode which is

(a) 31T -q‘\Eﬁ?Jﬁ/
Forward biased

(b) T 3TT-GATIET AT GRT-JaTIe /
Either forward biased or reverse biased

() TRT-JEIR/
Reverse biased

(@ o -y = & TeE-gaaer /

Neither forward biased nor reverse biased

4. WWWWMNWMﬁWWKNWWa@W?!

The mean free path A of a gas molecule as given by Maxwell is related to its diameter a, as

1
@@ A= B 0 () A= L
A 2mna 2mna’

i

© A=

N 27Td 2ana’
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ﬁgﬁgmmnﬁmmwﬁamammmﬁmwh
T deg®dl FAT FA: t R 12 ¥, AT VaYIOT FT 997 (&ed F FROT g 0T B) &

A body is projected vertically upwards. The times corresponding to height 4, while ascending
and while descending are ¢; and t; respectively. Then the velocity of projection is
(g is acceleration due to gravity).

gtity

Lyt b el /A

(@  glit; (b) oo
g4 5 g(f1 + tz)

(©) —"‘—2 (d) _“—“2

00 Th™* is g, Pb™*® &7 3ifaHT 817 3cuig & & 3cufera ot i e FA: o 3k B- &1

The end product of the decay of 4oTh*** is 62Pb*® . The number of o and B-particles emitted

are respectively

(@ 6,4 (b) g 3
() 4,6 (d 6,0

aﬁS%u%wWa:awwogmu%TaTsaﬂwogmmm&aT
Talsiet &1 Afgsurar ¢

If 400 Q resistance is made by adding four 100 Q resistance of tolerance 5%, then the
tolerance of the combination is

(@ 20% ( 5%
() 10% (d) 15%

Wm@aﬁaﬁm@méw%mzmma%ﬂmﬂwﬁ%s

The approximate nuclear radius is proportional to (A is the mass number and Z is the atomic

number)
@ A b vz
@ A3 @  z73
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11.
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TH Tog $eT 0°C | 48.0g 9% T TeTAE 2.0 g giaT &1 3, ST A 80°C W

75¢ U STAN Sl g, o HfAE areEE (wegfferas & fafse & 0.2 cal/g-°C, Tk

&l e A= 80 cal/g) &l

An aluminium can of mass 2.0 g contains 48.0g of ice at 0°C.  Now, 75g of water at
80°C poured into the can. Then, the final temperature is (specific heat of Aluminium is
0.2 cal/g-°C, latent heat of ice = 80 cal/g)

(a) 10°C (b) 17.5°C
(c) 20°C (d) 35.5°C

m#qﬁﬂﬂmaﬁmw%ﬁm%@naﬁmaﬁﬂ%mmm%l

Temperature dependence of resistivity of a metal can be described by

R R

o

T I

AT AT W, ary & eafe B Al 340 m/s F fordy 3T TET & QA X 30T
Fa L = 29 cm §1 3H TUE W position % v 3AREd g AR ST §, o e
eafer 1 wTest e T

At room temperature, the speed of sound in air is 340 m/s. An organ pipe with both ends
open has a length L = 29 cm. An extra hole is created at the position % . The lowest
frequency of sound produced is

(ay 293 Hz () 586 Hz
(¢ 1172Hz (d) 2344 Hz
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12, SI 9UTTelr H A T SHE Floiq (coulomb ) 3T CGS YoM & esy (stat coul} &, ar 1

ie:

14.

15.

Hleid TE &

The unit of charge is coulomb in SI system and esu (stat coul) in CGS system. Then, 1 coulomb
equals to

1
(@ 3 x10%esu (b) -5 x 10%esu

1
(c) E x 108 esu (d) 9 x 10%esu

mm?ﬁéwm?aﬁm%%Mwaﬁwﬁlw
mmﬁ;@mmaaéq;nuwﬁam%,mﬁgwwmﬁiuﬁ%ﬁaﬁ
tgﬁré:awamﬁﬁ1ﬁ?rwmm%,ﬁqmﬁml

A satellite moves around the earth in a circular orbit of radius R centered at the earth. A
second satellite moves in an elliptic orbit of major axis 8 R, with the earth at one of the foci. If
the former takes 1 day to complete a revolution, the later would take

(@) 216/ days (b) 3%/ hours
() 1.1%a1/hour (d  8%A/days

mmﬁm-sﬁaﬁm---wﬁmél
The half-life period of a radioactive substance depends upon
(8 dIYHANT / Temperature

(b) &It / Pressure

(c) A P UFHRT / Nature of sample
(d) wﬂaﬁﬁﬁaﬁs‘aﬁ / None of the above

AT e &I qiEree @ 3menfya ¥

Laser is based on the phenomenon of

(a) dlchlolle el / Spontaneous Emission
(b) 3E 3cHIT / Stimulated Emission

(c) 3TgAToT / Absorption

{d) SW}HHTQE G / Total internal Reflection
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16. WWWﬁWW%@E%W@Wquwm

17.

18.

ﬁa&amm%lwa:mﬁmﬁmﬁgumtm%mm@ﬁm
#r atfaer S

A charged particle of charge g and mass m is released from rest in a uniform electric field E.
Neglecting the effect of gravity, the kinetic energy of the charged particle after time ¢ seconds
is

@ o LT
t 2m

2 E2t*? Eq*m
(c) am @ 2t2

mwmmm%,améaﬁﬁamm

If temperature of the source is increased, the efficiency of Carnot engine

(@ g/
Increases

(b) Eel/
Decreases

(c) AT/
Remains Constant

@ TEer e ¥ 3R R e/

First increases and then becomes constant

aﬁéw120m.m%mmﬂmaﬁms%ﬁﬁakm/haﬁrwﬁmﬁ,
St e @Y 10s & YA F T PSR T

A scooter of mass 120 kg is moving with a uniform velocity of 108 km/h. the force required
to stop the vehicle in 10's,

(@ 720N (b) 180N
{cy 1200N (d) 360N

7 Post Code No. 04
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19. IIfd= T9oT AT @ar T

20.

21.

The kinetic friction is always

(a) T TN A FH /
Less than the rolling friction
(b) Seel TVOT F T /
Equal to the rolling friction
(c) WU@W@'G@T /

Greater than the rolling friction

() SHEEA /

All of the above

mgmémﬁmmﬁwm%luﬁﬁ?mm@ﬁwmﬁ
ar iz | golg — & TR &1

A body is immersed in water filled in a beaker. If the system falls freely, the up thrust on the
body is equal to

(@ R=T / Zero

(b) mvgﬁfﬁigaa‘r HAR / Weight of body in Air

(¢) Tell & 93 &T 51X / Weight of body in water

(d) a‘l’gﬁ'fﬁ?%ﬁ?%‘l‘%/ Half of the weight of the body in Air

qﬁmﬁmwﬁmw@é;muq@%ﬁ%lﬁgaﬁw“ﬂéﬁ?mﬁwgmw
Wmm%mtﬂﬂ(h«mﬁmh%lmwmmgq

e ]

ﬂwﬁwémﬁgaamaﬂ?ﬁaw?ﬁﬁaﬁﬁmmw%aﬁhaﬂ
7T B

Earth rotates about its axis with angular velocity . An object weighed by a spring balance
gives the same reading at the equator and at a height h above the poles (h << R). By assuming
the acceleration due to gravity to be same at the equator and at poles without rotating earth,
then the value of h is

@®R? @’ R?
(a) " (b) 20
20”R2 Rg
(c) (d) £
g )
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22.

23.

24.

25.

WaﬂﬁﬁaﬁLnﬁm—ﬁaammA,ﬁwﬁgﬂmymﬁ@mgmﬁlzr?c:
1T T % AT 3 Gt S &, & R I g

A wire of length L and cross-sectional area A is made of material of Young's modulus Y. If the
wire is stretched by the amount x, then the work done is

YAx? . YAx?
(a) = (b) 7

YAx - 5
(c) 5L (d) YAx“L

wmamm*mm%mée@w%wagmwaﬁ?ﬁu
gsrmeem.sﬂ?gaﬂts.s@!ﬁasaﬁgm%laﬁ:argrﬁw@rma?maro:n/s%,
ar Ferw & & @ gl gl

A man is standing between two parallel cliffs and fires a gun and he hears first and second

echos after 1.5 seconds and 3.5 seconds, respectively. If velocity of sound in air is 340 m/s,
then distance between the cliffs is

@@ 11904 /m () 510"/ m
(c) 395HI/m (dy 8507i/m

ﬁémw@mﬁ’rﬁm&aﬁwﬁ:m,m%aﬁmmm
foig R EEd Il

Particle undergoes uniform circular motion. About which point on the plane of the circle, the
angular momentum of the particle will remains conserved?

(@) dcd F %7 / Centre of the circle

(b) dcd Fr g uT / On the circumference of the circle
(© gcd & 3T / Inside the circle

(dy ded & 98¢ / Outside the circle

it AC uRkger 3 V= 100 sin (100t) volts 3 1= 100 sin (100r % g) mA &, o oy #
FalT faeror (e €

In an AC circuit V = 100 sin (100t) volts and I = 100 sin (100t + g) mA. The power
dissipated in the circuitis

(@) 104W (b) 25W

() 10W (d S50W
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26. A FyFTAT F AeF (@eEE) Fo in JLi 3R 2He nuclei A 5.60 MoV 3K
7.06 MeV &, & YA p+ JLi -2 2He &, Wity € s gl

If the binding energy for nucleon in jLiand $He nuclei are 5.60 Mev and 7.06 MeV
respectively, then in the reaction p + ng' -2 gHe » energy of proton must be

() 28.24 MeV {b) 17.28 MeV
() 1.46 MeV (d) 39.2 MeV

27. ET TH ARG - B
Iron is ferromagnetic
(@) THT JIATT UT / At all temperatures
() WEHH W / AtNTP
(¢) 770°C §FU / Above 770°C
(d) 770°C AR / Below 770°C

-1.,_ RN e 3ANET F% AT/ SATISH DHAWAN SPACE CENTRE SHAR | § ET

28. %ﬁﬁvﬁ,m#aﬂmmﬁr#fﬁmmmmmwéi

In a gas, the expression for the average speed of molecule is given by

/ 3kT 2kT

@ [0 (b) e
m m

8kT 3kT

© 7 (d) om

29. AR 3T Hr FadT RBafn ¢, ar Cp AR Cy F7 31eqareT B

If the degree of freedom of a gas is n, then the ratio of Cpand Cy is

(@ 1+2/n (b) 1+1/n
1+1/2 n
(c) +1/2n (d) il

30. mmnﬁmwmﬁm%maﬁﬂﬁmmmm%i

The temperature & pressure at which all the phase diagram curves co-exit is called as
(@) HHEHS &g / Critical Point

(b) QT—ﬁUﬁg / Triple point

©) Wﬁg / Melting point

(d) EHWUT'@E / Vaporisation point

10 _ Post Code No. 04
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31. Wﬂ@%ﬁmﬁmﬁﬁﬁﬂ-ﬁm@ﬁaw?l

For alkali metals, which one of the following trends is incorrect?

32.

{a)
(b)
(c)
(d)

Tonisation energy : Li>Na>K>Rb
Atomic size : Li<Na<K<Rb
Density : Li <Na<K<Rb
Hydration energy: Li>Na> K>Rb

[UPAC T AT [Co(NHs)s ONOJ?* ion |

The IUPAC name of [Co(NHz)s ONO]#* ion is

@
(b)
(c)
(d)

Pentaamminenitritocobalt (IV) ion
Pentaamminenitrocobalt (IV) ion
Pentaamminenitrocobalt (111} ion

Pentaamminenitritocobalt (111} ion

33. ﬁwaﬁm-—-—-aﬁa%m@nﬁmﬁmmmﬁ

Lower amines can be prepared from amines through

34.

(a)
(b)
()
{d)

aeat ufafesar / Wurtz reaction

feaar ufaferar / Schmidt reaction

gTrdleT sl afafshar / Hofmann bromamide reaction
Afaer ufafsar / Mannich reaction

Rt 31 @ e g o S 8

Which of the following electronic transition is dis-allowed ?

(@
(b}
(c)
()

o>
*
T
*
n—n

56"

11 Post Code No. 04
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35. et & @ wlv-am A, oy widfks B

36.

37.

38.

Which of the following compounds if aromatic?

(a) ﬂ

O
)

o ()
®

@ '\
o

(@) 3IIFT A / All the above

wiafshar &1 aFr fradis K &, S {given 2.303 RT / F=0.059}
A(s) + 2B* (aq) = A% (aq) + 2B (5); E°cen = 0.0295 V ¥

The equilibrium constant K of the reaction {given 2.303 RT / F = 0.059)}
A (s} + 2B* (aq) == A% (aq) + 2B (5); E°cen = 0.0295 V, is

(a 10 (b) 2x7102
() 3x102 (d) 2x105

5ml of 0.4 N NaOH & HI 20 ml. of 0.1 N HCI &T 201 fFam =mar g, d uRunfag o
F pH &I AT g
5 ml. of 0.4 N NaOH is mixed with 20 ml. of 0.1 N HCL. The pH of the resuiting solution will be

(a) 12 {b) 10
(@ 7 (d 5

ﬁmﬁﬁﬁﬂﬁﬁﬁawmﬁgm%f

Which one of the following compounds will have the highest boiling point?

(@ n-sg&ie/ Butanol
(b) n-=YfARicEEES / Butyraldehyde

(©) n-=9¢7 / Butane

(d) 2-SgAH/ Butanone

12 Post Code No. 04



3@415?6 e germe (Hifaeh) / SCIENTIFIC ASSISTANT (PHYSICS) A

der e 3iARET &% 4R/ SATISH DHAWAN SPACE CENTRE SHAR | SET

39, WWWW%%,WW%WWWW,*%%I

The finger print region of an infrared spectrum, which is a characteristic for each individual
compound, is between

(a)
(b)
(c)
(d)

400 - 1000 cm?
1400 - 900 cm'!
900 - 600 cm?
600 - 250 cm’?

40, &= s ¥ A, 3w & R HUis i afHRE &

In the lead acid battery, during charging, the cathode reaction is

(@)
{b)
()
(d)

Ph2+ =T Pb 8 gaed ({&®=M) / Reduction of Pb?* to Pb
PbSO4 HITST / Formation of PbS04
Ph0O, FT34 / Formation of PbO:

wﬂﬁﬁ Y @S =16t / None of the above

41 HCl SREE & @y o Oid & g H, gueh @ JAT R S

In a titration of aqueous solution of borax with HC], indicator used will be

(@)
(b}
()
(d)

fhsiferth2ifelsl / Phenolphthalein
Gﬁﬁﬂuﬂﬁj\ / Xylenol Blue

e / Methylred
EQlA st &/ Erichrome black T

42. %ﬁﬁ%WWW#W@@HW%F@W&Wﬁ@W

]

Which of the following correctly represents the balanced reaction between Aluminium and
Sulphur?

(a)
(b)
(©
(d)

16Al + 3Sg — 8AIS3
12A1 + Sg — 4AlS2
8Al + Sg — BAIS
4Al + Sg — 4AlSz

13 Post Code No. 04
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43. g e Tcd & Ui A #H,18 ol AR Tl A7 F 3 sdwe= O £ A g

44.

45.

46.

I gl AT ¢

What do you call an element if it has 18 electrons in penultimate shell and 3 electrons in
outermost shell?

(a) s- sdE U™ / s-block element
(b) p-sTRTRT= / p- block element
(¢) d-saFufm= / d-block element
(d) f-sawuR™= / fblock element

STP W, Torell 30 & 112 x 103 m® &1 10 Bl Aot a T st & 1046 J &r
ST &, o 9 & faw C, F

At STP, 11.2 x 103 m3 of a gas requires 104.6 | of heat to raise its temperature by 10 degree,
Then the C, for the gas is

(@ 20.92]deg?moll

(b) 10.46 ] degt mol!

(cy 9.40] deg! mol!

(d) Eﬂﬁﬁﬁaﬁéﬂﬁ / None of the above

o sfe §

Lucas reagent is

(@) TTEEE™ CuClz / HCI / Anhydrous CuClz / HC

(b) UETEEN™ ZnCl; / HCl / Anhydrous ZnCl; / HC

(c) TTEEEE CuClz / H2S04 / Anhydrous CuCly / H2S04
(d) UTerEg™ ZnCly / H2S04/ Anhydrous ZnCla / H2S04

T BN FHGOT S FIE & G FT 3T @R FHRA JRIAFR BT GWEAT § 3N x-3787
W AT A T § AT S (2,1) F 7w q @ar &, a

The equation of the curve of which the square of the ordinate is twice the rectangle contained
by the abscissa and the intercept of the normal on X-axis and passing through (2, 1), is

@ x*+y*-x=0

() 4x%+2y2—9y =0
© 2x*+4y?—9x=0
@ 4x2+2y2—-9x=0

14 : Post Code No. 04
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47. G FH & HoeH F&T, TaT G=(Z,+) I H=(47,4), &.
The number of cosets of Hin G is {where, G = (Z, +) and H = (4Z, +)}

@ 4 o 1
¢ O ' (dy 2

48, GuaE ¥ TGO & aeT F=d+ kb ¥ 3 wA & @ead 7.ii=q T
The equation of the plane containing the line # = @ + kb and perpendicular to the plane 7.7 =
qis
@ (F-b).(ixd)=0
®) (F-@).{fix@xb)}=0
© (F-d).@xb)=0
@ (F-B).{ix(@xb)=0

i/n
49. ToH & A lim[n—!) g

—0 nn

! 1/n
The vaiue of lim(—'] is

n-»al pnt

(@) e (b) 1/e
(©) e? (d) 1/e?

50. SYeitel 3raehel FHIRIOT — EaRT AT T g
Bernoulli’s differential equation is given by
d
@ Py =Q()y"
dx

d
0 Liy=0x)y*+Rx)
dx

© ‘;—y+P(x)y=Q(ny2
X

@ %w(x)y:@(x)

15 Post Code No. 04
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51.

92.

33.

54.

53.

afg frafaf@a foawor s aew 13 &, & p & awave &7

If the mean of the following distribution is 13, then p is equal to

X 5 10 12 17 16 20
fi 9 3 p 8 7 5
(@ 6 (b) 7
() 10 d) 4

T IRER T FTRONT T y = ax? §
The orthogonal trajectories of the family of curves y=ax?is

(8 x%—2y%=c? (b)) y*—2x%2=¢2
© x%+2y%=c? (d  y®+2x% =2

aaﬁwqﬁmw,mqa)aaswﬁgmm%mwﬂenﬁaw@m4m‘s‘|
AT TIA TS HH 4o 9m ¢, dF T o & GR&ATT B

Magnitude of the two forces forming a couple is 36 N each and the arm of the couple is 4 m.
The magnitude of each force of an equivalent couple whose arm is 9 m, is

(@) 18 (b) 26
(¢ 16 (@ 15
g Afeaa o et sag &

The diagonal elements of Hermitian matrix are

(@) ST HEAT / Complex number

(b) STEdId® TEAT / Real numbers

() HWIHpd TEGT / Natural number

(d) 3'51'{3;?*?[ Ha Elflé' &l / None of the above

67 19 21
feRe &1 A6 (39 13 14]
81 24 26
67 19 21
The value of the determinant {39 13 14{is
81 24 26
(a) -43 (b) 48
(c) 62 (d 39
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56. IhaT H FASAT AT IR, @I 9% s=4 asiny [Fhal] W &g (s v) B
Find the radius of the curvature at point {s, 1 ) on the curve s = 4 a sin i [cycloid].

(@) tany
by Z2asecdy
() 4acosy

(d) E’éﬁﬁﬁﬁé‘ﬁﬁ / None of the above

57. UM X-378T UX TF y2 (a +x) =x* (3a - x) IRGHAUT AT §, & o7 @R FAfaid HId=T gar
I

The curve y2 (a + x) = x2 (3a - x) revolves about X-axis. Find the volume generated by the loop.
@ za*(8log2—3) (b)  zad’(8log2+3)
© xa /12 (d) Ta

58. R-ARIE gid § |

De-Morgan’s theorem is

In)

= A.B (b)
=A.B (d)

]

|
T o
B
o B

© A-

59. a Y FAew FEA, OFF AT G x2 —x+a=0 AR x?—ax+1=0 & dl GAY

A T
The number of values of a, for which the equations x> —x + a =0 and x? —ax + 1 = 0 have
a common root, is

(@ 2 b 3
() 4 @ 6

60. TR fIe0T ¥, FiA-AT Tawed WE &

For a normal distribution, which one is a correct option?

(a) Mean > Median = Mode
(b) Mean < Median < Mode
(¢) Mean = Median = Mode
(d) Mean > Median > Mode
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Tdrr araeT 3aNeT g 29/ SATISH DHAWAN SPACE CENTRE SHAR

Fafes geras (3ifh) / SCIENTIFIC ASSISTANT (PHYSICS)

SET

e T & T FT / Space for rough work
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F= %1 o ¢ T / Space for rough work

19 Post Code No. 04
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10.

aaﬁ:ﬁ@qaawmmnfmma:mvﬁmm, Sl Y 3eav AT (a), (b), () T
(d) *19] g1 3T F Ua & 3ca¥ W & / Each objective question is provided with a text and/or

figures wherever applicable with multiple answer choices (a), (b), (¢) and (d). Only one of
them 1s correct.

HTAIFR M W BT T 38 & tae & 91 U ool AT e aur seaAsm
%ﬁtﬂﬁ@ﬁ%@%ﬁaqmmaﬁrﬁéﬁmwé’rmaﬁ/Readtheinstructions

on the OMR sheet carefully. Use only Blue or Black Ball Point Pen for writing on OMR
sheet and marking your answers.

T TS UHR F 9T F T eal §F FAW i b g, FY S 7 O W YA Ul
TAT 3eal T TF 3 el SN | UF 93 & fafder scawl & 1ad 3cad A en| [ All

objective type questions carry equal marks of THREE for a correct answer, ZERO for no
answer and minus ONE for a wrong answer. Multiple answers for a question will be
regarded as a wrong answer.

mag@lﬂ%mﬁﬁt%mmﬁAmBmcmnmEﬁgﬁamw&a’r
MR e # Ry v Fvs awr gega 7 & § fowen e 7w J HE W3R
qfeae &1 S A8 T ST / Question booklets have been marked with Aor Bor Cor D

or E on the right hand top comer, which is mandatory to be written on the OMR sheet in the
box and bubble appropriately, failing which, the answer sheet will not be evaluated.

m@m@ﬁwwmmmﬁﬁmmﬁﬁwmmmmél AT T FE
offle =it &r STeal / Space available in the booklet@uld be used for rough work, if required.
No separate sheet will be provided.

ﬁmam%%@@aé’rmaﬂ@ﬁ,mwmmmaﬁl 3T 3T UeT gl
FT 9T 91 F FBT wA & & g &1 / Do not waste time on questions, which are too
difficult for you. You can go on to other questions and come back to the difficult ones later.

Qﬂmﬂ;mmw(nﬁaﬁqmwgcﬁfaawaﬂwmaawmmmm
gmmﬁﬁﬁqéamﬁm"rshmﬁmmﬁs#amaamlmtheendof

the test (1) Written test call Letter(s) with photograph pasted on it and (2) OMR
Answer Sheet shall be returned to the invigilator and shall not be carried by the
candidate under any circumstances.

w7 Toreror 3 <fier foneht W o G &) 41, oS faewor €1 wu™ &0/ In case of any doubt in any
question between the language versions, English version will prevail.
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